


kq = 0.32umol /1






























(4,7),-- -, (t+(k-1),7—(k-1))



p€li:j]



gelk:]









1<p<j<q



p<i<qg<y






E;; = min max Eii, max
(3,k)E{GC,CG,AU,UA,GU,UG} (k,5)€{GC,CG,AU,UA,GU,UG}






kcal /mol






—5kcal /mol






G = —RT -1og(Q)



qlk(k) = Q(1, k)



gin(l) = Q(I,n)



p(i,j) = Si + S5 — pij * In(pij)



<d(S) >= E(i,j)es(l — pij) + Z(i,j)gzs Dij



pij > 0.5






























d<0



d>0



d==0



AGsnapr(i) = mIn(SHAPE reactivity(i) + 1) + b






qi



AGsuarg(z, i) = B |z; — g



{L‘i:()



{L‘i:1






|$z‘ —qz‘\






dacal /mol



1dacal/mol = 10cal /mol



exp(—E/kT)






cal /mol



<d>=3", , Pappd(Sa, Sp)



pij



<d>=3%pii (1= pij)



(i+1,5—1)



p > cutoff












S ={A,U,C,G}



strlen(sequence) + 1



e—AG/KT



AG



(n+m)



—KkT -log(p)






10~2 x kcal /mol



N x M









X[100][5]



A(S) =
Z 2pi; + Z
Py

(2,7)€S8
i¢s






exp(—E/(b- KT))



exp((—F/kT)/length)






exp(—E/kT)






dli, j] = qli, j]/s97D



s = exp((sfact « MFE)/KT/length)



exp(—AG/KT)



o—E/(a:K-T)



F(@) = Sy S+ X, 0780 i

o2



F(g) _ Zn |ea| + Z?:l |Pi((€;')2*qz‘| S min

i=1 72



n . _ 2 )\2
+ Z (pz(aaz Qz) —y min .
=1



Pt



rs



[0,1]



X|i] xrs



Byli]

Y[i] xrs



1J=1kg m2s2



1 kJ=1,000 J



1 cal;T =4.1868 J



1 dacalyr = 10 cal;r = 41.868 J



1 kcal;T = 4.1868 kJ



1 caly, =4.184 J



1 dacaly, = 10 caly, = 41.84 J



1 kcalyp, = 4.184 kJ



1 g TNT = 1,000 caly, = 4,184 J



1 kg TNT = 1,000 kealy, = 4,184 kJ



1t TNT = 1,000,000 kcaly, = 4,184 M.J



1 eV = 1.602176565 x 10712 J



LW -h=1W-3,600s = 3,600 J = 3.6 k.J



LEW -h=1kW-3,600s=3,600 kJ = 3.6 M.J



(K] —273.15



[°F] = [K] x £ — 459.67






([K] —273.15) x 32



[°De] = (373.15 — [K])3



[PRé] = ([K] —273.15) x 2



[°Ro] = ([K] —273.15) x 21 + 7.5



)
























